i

2R D

WA TEABCD 13 ATINATE T %,

ZDEE, WORBWVIZEZ 2SI,

() 4D xJEIED =2 DL E B, C. DOJEIFEZ RO IV,

(2) FUSZEY  0ABCD DR %25y 3 2 EAMRO XA RO 72 S0,

(1) BAL S BT EIZ SOV TR IR 72D T,
A(=2,2) X0 B(2,2)
L7=23> T, AB=4
F 7=, WMAABCD (X AT UE /2D T
AB=CD=4
L7,
RC D xFERET 4705,

:ﬂ%y:%ﬁmﬁﬂbf

1

y=?x4

y=38

C(4,8) & 725 DT, D(0, 8)
(2) ATMO O % 559 5 EARI AR O LR ZED,

ZZTHDERABOHFENARZREIRDDT,

D L& B O F AR ORI

0+2 8+2
(ﬁ?“?
L7=25> T,
(1, 5) EJFUR (0, 0) 2B D EAADO X ZRDOIIT I VDT,
y=5x&72%,

)J:U\(I,S) L%,



